EARAZROREIERT — 2 N—XBISY —F 201255821 (B) 4ME%#1H

mﬂi%sﬁﬂﬁﬂ 7 Y% 3% ‘ [R#&] B ‘ [msm]  — | & (&) 14000 B
[A&£] 1 %:180,000  ~ 27%:36,000MH ~ 3#&:1800MH  4%:0H / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3| 2&—UrsELT 3 | BAST 1:(30).3 1-1-1-1 [39.2| — | 3 | 433 éﬁéﬁé &2
QT ETANT IR BT AN—TLLF | nmis
2 2 | TITANCH L # 3 éﬁé’_«%ﬁi 1(;33/%5 8862 [38.1| — 1 | 475 ﬁg%% (%43)
Qi RTA=Y BiTr—LEay b O UYL
3l1]1] b= H 3 éiﬁé{lé'ﬁﬁu 1:(331).1 4553 |39.4| — | 2 | 528 g?ﬁéi (342)
R k=t AR BT RTAVINLR 08 | 5patt Tx5c77-4
47| 7| F*A=aAN> 3 | AR 15619 Te24 |00 | = | 4| e | MERR W)
RiHALSFAIR BARAGF T2 ) %7 ax
5 6 S O Y 4 3 5%6%@ 1:(332).0 6-6-7-7 |39.7| — 6 488 %Eég— (1)
L:Rk—>F2d BIAL 9T F%2R © HE fF—
elalg| #ov—t—3 # 3 ﬁ%mg (12312/25) 5436 |41.2| — | 5 422;1 *iﬂéé%{ ﬁ(ﬁm‘)
R:7RY4VY K> B:epliL—r 2% @
L BNV I W) levriykIy-k
; s FeF—F7oa # 3 | A 1:(333).5 7-7-8-8 |40.9| — | 8 4+127 ﬁ%g)ﬁf S%@ra/h
A= XA 2214 B:2=/3)Fx—% (62) EvilLy RIT7—L

® 1 —F—@EBIBfL

13—%— [3,57,1,8,6,4,.2

23—F+— [3,57,8,1,6,4,2

83—7F— |3.7,8,51.2,6,4

43—F— |3,2,1,7,5,8,6,4

o LRE

Bk 3 780 | | & = 2-3 790M | | 3EtE 1-2-3 210F

5 3 1200 | | B5 B &2 2,170M | | 3&EE 3-2-1 4,470M
2 100/
1 100M

ABICOVWTRDTEEERROODE. TR LIV,



